H £ 0l & AF & S

Al A

FA: Aot AIE A
B Dz ASIATAHIA M2
el DiEd=sk 2l (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Aot=EAI A 32,382,885 39,178,445 6,795,560
= 7,065,838
[ 700,000
Jl 129,000
< 4,056,170
= 20,431,877
=2 dote=TAHIA MBS 32,339,183 38,634,624 26,295,441
= 7,065,838
s 700,000
Il 129,000
= 4,096,170
[Ea 20,388,175
Olsdt 2el 1,043,576 1,054,412 A 10,836
= 370,000
o 673,576
OiEa=k RA 2= Al 362,576 363,412 /10,836
201 fer= 3| 212,616 222,516 29,900
01 At 2|l 201,816 211,716 29,900
O DISa+E +EANS2E
223,000 13571 2= +43] 120,420
O =% =2 "R =<
70,0002 x62H+33] 1,260
O 452 BZ2IN X
180& *10,8000H 1,944
O tSd+=E M= F2EAH|
289,600 x135J1 2:+23] 78,192
2 352484l 10,800 10,800 0
O X & dl (3th) 10,800
202 04l 2,940 2,940
01 =LHOHI 2,940 2,940
O 228 30l
70,0002 x5 %123 %70/100 2,940
206 M=l 7,020 7,020
01 M= HI 7,020 7,020
O Oi2ddsE AS2%E (1H)
160,000 x58F A+90/100 720
O DS ASAE (AUH)
7,000,000& *90/100 6,300
401 AIEHIX 20HH 130,000 130,936 N936
01 A28l 128,840 130,000 21,160
O =l B2+ 128,840
03 Al 20HHI 1,160 936 224
O tSddsE B2
128,840,000&+0.9/100 1,160
OtSat= dAlE EXA 120,000 120,000 0
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S ABET AL
3 Z=2 dot=ZAHA MS
&t sk 2l (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 =3 40,000 40,000
01 At2t2ltl 40,000 40,000
O A2 S4NE F2FF BB 89
10,000, 000& *43] 40,000
401 AIEHIX SO 80,000 80,000
01 Al&| 79, 144 79,144
O DISA4E ASAlM 8% U 24 49,465
O Oisd+k =288 X & 2+ 29,679
03 Al 20HHI 856 856 0
O DiEa+S A=AE &7 2 24
49,465,000 *1.08/100 535
O DISA4E BB &1 L 2+
29,679,000& *1.08/100 321
A2 =L SSAIE HEAIL (D EALY) 571,000 571,000 0
== 370,000
o 201,000
401 AIEHIZ SR HYI 571,000 571,000 0
[ 370,000
T 201,000
01 Al&HI 567,425 567,425 0
O A2 =EAE HEAMY = dE 567,425
= 370,000
= 197,425
03 Al =CHH| 3,575 3,575 0
O ARE 2EAIE AL
567,425,000& *0.63/100 3,575
A= 2l 5,442,375 5,982,456 540,081
= 26,649
[ 700,000
= 2,291,925
= 2,423,801
ANSE HaAE=ES 83 97,000 104,000 A7,000
= 21,600
[Ea 75,400
401 AlZHIZ S 0HbI 97,000 104,000 AT7,000
S 21,600
o 75,400
01 A28l 97,000 104,000 A7,000
O ANSHY UHaAE=s J2LEHEES 72,000
== 21,600
o 50,400
O &dl 2A880l= 2t 25 EXIAMY
(FLIF010l4H) 25,000
LE M2 FHAY (DAXIF) 854,000 713,000 141,000
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FA: Aot AIE A
B Dz ASIATAHIA M2
coelr N 22 (Gt H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 700,000
=S 154,000
401 Al HIZL 01| 854,000 713,000 141,000
= 700,000
== 154,000
01 Al&H| 854,000 713,000 141,000
O J4HH 22t ZHIANY 854,000
= 700,000
& 154,000
S0E ME2 HLMS(SLH)(HEAY) 2,100,000 800,000 1,300,000
< 2,100,000
401 AIEHIX SO 2,100,000 800,000 1,300,000
= 2,100,000
01 Al&HI 2,100,000 794,960 1,305,040
O Sd8 sEdEsSs LAY = =8 2,100,000
= 2,100,000
AHEOIEOS HIAASIEX EXIALE 10,000 0 10,000
[ 3,000
T 7,000
401 Al HIZL 201 10,000 0 10,000
= 3,000
= 7,000
01 Al&HI 10,000 0 10,000
O AHEOIEDIE HIdAstEAl EXA 10,000
= 3,000
Ea 7,000
7.8~7.10. 21l S==5+ 106,558 0 106,558
= 26,649
= 13,325
Ea 66,584
401 AlZHIZ S 0HbI 106,558 0 106,558
= 26,649
= 13,325
= 66,584
01 Al&H| 106,082 0 106,082
O 7.87.10. 21U S5+ 52,784
O 2% & Moll=S7AE 53,298
= 26,649
= 13,325
= 13,324
03 AIZSTHYI 476 0 476
O 7.87.10. 21U S5+
52,784,000&+0.9/100 476
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FA: Aot AIE A
B Dz ASIATAHIA M2
ool MgAaT 22 (choy: @2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ngat=2 AIZZ 0IZAIY 1,824,817 1,824,817
401 AIZHIZ SO 1,824,817 1,824,817
01 Al&HI 1,817,382 1,817,382
O J4HHE ot o =22 023 At 247,507
O 258 d=k S22 0IZ3A 1,569,875
03 AlESTHYI 7,435 0 7,435
O L&t 25t Ol4SAt
247,507 ,000&+0.72/100 1,783
O 258 5422 0/82A
1,569,875,000& 0.36/100 5,652
2z Ngas=t slistAtg Al=2tel 450,000 450,000
401 AIEHIX S0 450,000 450,000
01 AlZH| 447,182 447,182
O 27 Ngas=E SUHSIAMY A2l 447,182
03 Al 20HHI 2,818 0 2,818
O 2F=2 Nga== SUSAE A= 2te]
447,182,000&+0.63/100 2,818
ot=& 22| 25,766,372 31,208,098 AND, 441,726
= 7,039,189
Jl 129,000
= 1,394,245
Ea 17,203,938
S3ot=HelAlE 2 2 8,626,378 9,894,177 A1,267,79
=S 253,000
s 8,373,378
201 et 3| 7,850 7,850
01 AtR2tc|Hl 2,450 2,450
O THHEHAAE 49
70,0002 7 H 33 1,470
O 22oI4T S VBT AR+
70,0008 x7H 23] 980
02 S3=gHl 5,400 5,400 0
O &= 4dot+==83l 3HI(5t+%) 5,300
O ot=2t sEULDIEINE BEZ 100
202 04| 3,528 3,528
01 =LHO LI 3,528 3,528
O ot==8 &0
70,0002 62 * 128 %70/100 3,528
307 @12+0| & 8,255,000 9,522,799 N1,267,79
= 253,000
o 8,002,000
05 212t =S 8,255,000 9,522,799 A1,267,79
O sceIXH2EMelAlE B2t S 1,955,000
O S3ct==HMelAIEZ(B10) 2ItAES 6,300,000
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FA: Aot AIE A
3 Z=2 dot=ZAHlA MBS
= e - EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 253,000
s 6,047,000
401 AlEHIZ 2 0HbI 360,000 360,000
01 Al&H| 360,000 360,000
O +=ZZHAIAS(MS) sXI2el 360,000
A2 S3oteXalAlE 2g 2l 3,009,744 3,429,228 A329,484
2 54,189
= 27,095
o 3,018,460
201 eet23| 1,459,700 738,188 721,512
01 AtR2t2|HI 19,700 17,420 2,280
O 212 B3tk ASHHEIL /A
=g 100,000& +5& 500
O of=XMclAlE RBHIAIAE AIZR 19,200
02 S5=24g4l 1,440,000 720,768 719,232
O ot=XclAlE HUdEEE 25
16,666,666 « 12 200,000
O 412 ESot=xclAld &JIRes
103,333,333« 123 1,240,000
307 21201 & 1,574,284 1,825,280 A250,99%
= 54,189
= 27,095
[Ea 1,493,000
05 212t =S 1,574,284 1,825,280 A250,99%
O 472 S3ct=HelAld 22tES 1,493,000
O 7.87.10 ER01IH S=S=2R(SEMLE) 81,284
= 54,189
= 27,095
401 Al HIZL 01| 65,760 865,760 A800,000
01 Al&HI 65,760 865,760 800,000
O A2 E3ot=XclAlE ot=2t2 Jl=
alt 65,760
JIEE3ote=E RA2eIAE 300,500 1,254,500 954,000
401 AlZHIZ SO 300,500 1,254,500 954,000
01 A28l 300,500 1,254,500 954,000
O o=k =28l ESZA ES 40,500
O &30tk 2 2 FXl2td 260,000
2= UMY YA (BTL)GH=2tA 29 763,600 901,600 A138,000
201 er23| 1,600 1,600 0
01 At2teltl 1,600 1,600 0
O dtE8IIRIRs =&
100, 0003 4 & *43] 1,600
307 @120l & 762,000 900,000 138,000
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FA: Aot AIE A
3 Z=2 dot=ZAHlA MBS
= e - EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
05 2ItRIE = 762,000 900,000 /138,000
O 2FUUE QURIAIY(BTL)oH42H 2% 762,000
St=C &X ¥ 22| (G2 A EH| 2FBILAUZ) 4,267,000 4,267,000 0
= 2,973,000
Jl 129,000
s 127,000
s 1,038,000
201 et 3| 4,267,000 4,267,000 0
= 2,973,000
) 129,000
< 127,000
s 1,038,000
01 At2tltl 4,267,000 4,267,000 0
O 2= ot=2=2 BIL U= 4,267,000
= 2,973,000
Jl 129,000
= 127,000
[Ea 1,038,000
JIE o= Ald2 HYESEH 10,000 10,000 0
401 AIEHIZ SR OHYI 10,000 10,000
01 Al&HI 10,000 10,000
O JIE&E ot=ZAldE HUEX 2o 10,000
a2 OIMXIS ot HMel2g 3,700,000 2,000,000 1,700,000
201 er23| 3,700,000 2,000,000 1,700,000
02 S5=2g4l 3,700,000 2,000,000 1,700,000
O & 0IMAIA ol Heldl 3,700,000
St X ¥ 22| (SHEDISo+=ZHH-BEXT) 762,000 144,030 617,970
= 762,000
401 Al HIZL 201 762,000 144,030 617,970
= 762,000
01 AlZ2H| 757,229 143,000 614,229
O BE& Ot=ot+=k FHlAY 757,229
= 757,229
03 AIZ S THYI 4,77 1,030 3,741
O BE Ot=ot+=k FHlA
757,229,000& +0.63/100 4,77
= 4,71
St dXl 2 2el(sHE0SSeS FHI-CHOFXI+) 1,182,650 167,000 1,015,650
= 887,000
= 295,650
401 AlZHIZ SO 1,182,650 167,000 1,015,650
= 887,000
= 295,650
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FA: Aot AIE A
B Dz ASIETAHIA M2
&t o=k 2tel (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 Al&HI 1,178,407 165,806 1,012,601
O CHOFXI=* DtSot=== EBIAL 1,178,407
= 887,000
< 291,407
03 AIESTHYI 4,243 1,14 3,049
O THOMKI P OI26H4E FUIANYS
1,178,407 ,000&+0.36/100 4,243
== 4,243
St dXl 2 2el(sHENSSeE FHl-+=2X7) 1,176,000 167,000 1,009,000
= 882,000
= 294,000
401 AIEHIZ SR THYI 1,176,000 167,000 1,009,000
= 882,000
= 294,000
01 Al&H| 1,171,781 165,806 1,005,975
O #=gX|=7 DtSot=x &l 1,171,781
= 882,000
=S 289,781
03 A2 THYI 4,219 1,14 3,025
O ==2tX|7* OtSot== dH|
1,171,781,000&+0.36/100 4,219
=S 4,219
adl ==ol+2=2 ZHIAY 229,000 143,001 85,999
= 220,000
< 9,000
401 AIZHIX 20 229,000 143,001 85,999
= 220,000
= 9,000
01 AlZ8| 227,362 141,978 85,384
O &dl ==ot+2=Z IHIAIE 227,362
= 220,000
= 7,362
03 Al 20HHI 1,638 1,023 615
O &dl ==ot=2=2 ZHIAY
227,362,000& +0.72/100 1,638
= 1,638
S8 cFote22 FHIAE 851,000 500,000 361,000
= 662,000
== 189,000
401 AlEHIZ 2 0HbI 851,000 500,000 351,000
= 662,000
< 189,000
01 A28l 845,672 496,425 349,247
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Aot A A
=2 Yot AHlA MBS
ot 2l EERE)
SA - B SRIBH) - MRAR - BAS A HIDEZ
O 355 t=ol+=2= JHIAE 845,672
= 662,000
== 183,672
03 AIZ S THYI 5,328 3,575 1,753
O S5 =Fot=2= FHIAY
845,672,000& +0.63/100 5,328
== 5,328
2y SSotexcld SEAMY 798,500 357,000 441,500
= 599,000
= 199,500
401 AIZHIX 20HH 798,500 357,000 441,500
= 599,000
= 199,500
01 Al&HI 793,500 364,448 439,062
O 2 SEotexcld SEAMY 793,500
= 599,000
=S 194,500
03 Al 2 HHI 5,000 2,552 2,448
O 4 ZZotexeld S2AY
793,500,000&+0.63/100 5,000
= 5,000
Aot At SeAY =X 86,860 389,658 A302,798
Aot ANY SetAY =& 86,860 389,658 A302,798
201 Zet=Eh] 78,480 60, 140 18,340
01 AtR2telHl 42,480 60,140 A17,660
O 224 g3 36,300
-2 60,0002 x2EH %1202 14,400
-=2% 60,0002 «12H+365& 21,900
O =) 7zl g2
50,0003 *2CH =123 1,200
O SIIEEI| |X2el Hdx==2
40,0002 *4CH*122] 1,920
O gxd 29 =5 7Y
100,000& » 122 1,200
O g&84d H+= M=
20,0003 x45+123] 960
ORE #5=% 15,0002 x65* 122 900
02 S3=gHl 36,000 0 36,000
O dot=EAEA AN JIIes
3,000,000& ~12& 36,000
202 04l 5,880 7,518 1,638
01 SLHoIH 5,880 7,518 A1,638
=38 SZ0
70,0002 +32 *12& %70/100 1,764
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